h§ = BE of g - 1)y <5 =2 X ot e v =1
ITRREFZMRXE iﬁ}ﬁ%*ﬂ”ﬁéﬁzﬂ (X 15 ] __ &R 1/2,500 EREZEORYE |t55
&__—-‘—-__\\\_ : ' = 4 EMHEES  |132383A660423021

AT TE ERHEHEET SR

X i & Rl

[ ] twsmzass
- IMKERIERRE (BMPRIRSES) —
{ TRROESAIMERZ DRI

BEMIZERATHEFTRENDZ AN
7 50kN/n‘f‘l>J~'F0)l21§'i%w

[ | enesnors
8 B B KBRS
ITEFEDHDKRESDRT

EA&S| W | ® |[EA&S| W | ®

-206.9
I et
HOXNFRELDEHA
. (A LERICEYBEYIERTEEBEEINDNDIERANDED KN/m)
RS / - : (B) (AN LZEEMITERATIEEDLERDOEE (m)
\‘gi@" P = gl N, ErRERE
‘%ﬁ .. EREAH
H = =
|:|7F§"?
0 50 100 m %ﬁ?ﬂiﬁ E
ERES

1/ 1 ERE



